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Choose the correct graph that best describes the solution for each inequality.
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1) X+42°<-2 2) -1<6x+5

a) L a 4L
-40 -32 -24 -16 8 0 8 4 2 0 2 4 6 8

b)

)

d)

3) .V. .‘n’.

b)

9 Gain complete access to the largest

0 collection of worksheets in all subjects!

5) Not 2 members

) Please sign up to

gafncomplete

b) access,

o)

d) www.mathworksheets4kids.com

7)

a)

b) ¢ b b) <+t ————
-70 -56 -42 28 14 0 14 60 45 30 -15 0 15 30

T T T e Qo ————
-70 -56 -42 28 14 0 14 -60 -45 30 -15 0 15 30

d d) ———
-70 -56 -42 28 14 0 14 60 45 30 15 0 15 30

Printable Math Worksheets @ www.mathworksheets4kids.com




